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Suppose a pebble is dropped from a cliff 150 m high.  The distance it falls is represented by the function:  s(t) = -4.9t2 + 150.  


On any function: Given the points:

Q(x1,y1) & P(x2,y2)
Slope of a Secant
   The slope of a secant represents the _______
   ____________ between Q & P on a function.

As Q moves _______ to P, x1 moves _____ to x2, and the resulting secants move to become a ____________.
Slope of a Tangent
The slope of a tangent line at P is the
     __________ value of slopes of ____ the 
     secants, PQ, as point Q approaches P.  It 
     is the ______________ rate of change at 
     point P.






Table Solution

	
Time Interval

(s)
	
	Ave Speed

(m/s)

	1.9
	
	

	1.99
	
	

	1.999
	
	

	1.9999
	
	

	2.0001
	
	


As you can see as x1 approaches 2 seconds from either side, the average speed becomes an instantaneous speed of -19.6 m/s.
Algebraic Solution

